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RREEHKREERE ERD

(HEBLL O G HE B ORI E £720,)

OXEARFERE LEEHA)
AR, SEHKIEA 10 M 0 m A~ LISARBERENE 1,000 H &35,
e ;1,200 F9/10 m = 1,000 H
SEHIE 1,500 /10 mi = 1,000 H
< JUBH Kk & AT S 72 0 s DK &I~ T LA EZ 1,000 &35,
JABARKE : 3,095 /(1 H#H+1 AN) = 1,000 H

O10 ¥ » DBGER
R 25.0% UP [1,200 F9/10 mi = 1,500 F4/10 m']
STHH X 0.0% [1,500 F9/10 mi = 1,500 F4/10 m']
J\BAXIE : 59.61%DOWN  [3, 714 /(1 #H+2 A) = 1,500 [4/10 ni]

OBiafE B
3 BHEDOX LT D,
< 100 MM HIL, AdLFAKELFEIC2FMEL 45,
14 = X3
ER L = OmilB~ 10mET 50
10 mid 1200 = 10 MEE~100 ME T 150 ( 25.0%UP)
ER L = 100 mA 180 ( 50.0%UP)
N7 FH X3
RIEZR L = 0Om~ 10mFT 50
10 mih 130 = 10 MEE~100 iE T 150 ( 15.38%UP)
RIEZR L = 100 m'iE 180 ( 38.46%UP)
J\ B X35
ERL = 0OmilB~ 10mET 50
ER L = 10 mEB~100 MmE T 150
TERL = 100 M~ 180 [




RAREEHKEERT ERQ

(HEBLL O G HE B ORI E £720,)

OXEARBERE LEEHA)
AR, SEHKIEA 10 M 0 m A~ LISARBERENE 1,000 H &35,
e ;1,200 F9/10 m = 1,000 H
SEHIE 1,500 /10 mi = 1,000 H
< JUBH Kk & AT S 72 0 s DK &I~ T LA EZ 1,000 &35,
JABARKE : 3,095 /(1 H#H+1 AN) = 1,000 H

O10 ¥ h DBGER

e RIXI® . 25.0% UP [1,200 H/10 m = 1,500 /10 mi']
SHEE : 0.0% [1,500 /10 m = 1,500 /10 ni']
JABARKIE © 59.61%DOWN  [3,714 /(1 4 +2 A) = 1,500 /10 nt']
OBiafE B
A BEEDOX LT D,
< 100 MM B, BEBEZ S ICAILETKELFELC 2E#L &4 5,
1 o X I
RIETR L = 0miEE~ 10mET 50
10 m iR 120 = 10 MB~100 mE T 1501 ( 25.0%UP)
RIERL = 100 MAB~200 i 180 ( 50.0%UP)
RIETR L = 200 md 210  ( 75.0%UP)
N7 FH X3
RIEZR L = Om~ 10mFT 50
10 mid 130 = 10 MB~100 mET 150 ( 15.38%UP)
RIER L = 100 MiEB~200 M £ T 18019 ( 38.46%UP)
RIER L = 200 mid 210 ( 61.54%UP)
J\ B X 3
RIETS L = 0Om~ 10mFEFT 50
RIEZR L = 10 MAE~100 ME T 150
RIEZR L = 100 mEE~200 M £ T 180
RIEZR L = 200 m A 210 M




RAREEHKEERE EXRS

(HEBLL O G HE B ORI E £720,)

OXEARBERE LEEHA)
AR, SEHKIEA 10 M 0 m A~ LISARBERENE 1,000 H &35,
e ;1,200 F9/10 m = 1,000 H
SEHIE 1,500 /10 mi = 1,000 H
< JUBH Kk & AT S 72 0 s DK &I~ T LA EZ 1,000 &35,
JABARKE : 3,095 /(1 H#H+1 AN) = 1,000 H

O10 ¥ h DBGER
R 25.0% UP [1,200 F9/10 mi = 1,500 F4/10 m']
STHH X 0.0% [1,500 F9/10 mi = 1,500 F4/10 m']
J\BAXIE : 59.61%DOWN  [3, 714 /(1 #H+2 A) = 1,500 [4/10 ni]

O F ek
- NIETFAKEERICK G E L 0 mE~10 mE TEIBEMT 5,
- 10 MmN BIE, B L ICAIETKIE &R AR E T2,

e 2= X0

RIETR L = 0miEE~ 10mET 50
10 m iR 120 = 10 M~ 50 mET 1501 ( 25.0%UP)
RIERL = 50 mB~100 mE£ T 1801 ( 50.09%UP)
RIETR L = 100 mMABE~500 MET 210 ( 75.0%UP)
RIETR L = 500 m A 240 (100. 0%UP)
ST HH X i
RIEZR L = OmB~ 10mET 50
10 miR 130 = 10 M~ 50 mET 150 ( 15.38%UP)
RIER L = 50 mB~100 M £ 1801 ( 38.46%UP)
RIERL = 100 MEB~500 M £ T 210 ( 61.54%UP)
RIETR L = 500 m A 240  ( 84.62%UP)
J\ B X35
RIEZR L = Om~ 10mFEFT 50
RIEZR L = 10 M~ 50 mMET 1501
RIETR L = 50 mMAA~100 mE T 180
RIETR L = 100 MEB~500 mE T 210
ER L = 500 m A 240 [




<HE>
J\BA RKImefet R A B0 (i)

1) ANEH N G STV
2,476 [ 619 1 N 3,095 [ 6 m
2,476 [ 619 1 N 3,714 1 12 ni
2,476 [ 619 1 3 A 4,333 [ 18 mi
2,476 1 619 [ 4N 4,952 1 24 m
2,476 1 619 [ 5 A 5,571 [ 30 m
2,476 [ 619 1 6 A 6,190 [ 36 m

%2000/1 A+ 1 HX30 H-+1,000=6 m/H




